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Explain dynamic braking of 3-phase induction motor. 15
Explain in brief the following : 15
1 I‘LTHL".“”I“L:': k]lli“ :”.1. t‘.l'lnl.-l.”"h'
i) Auto transformers
i) S.C. test of 3-phase transformer
Explain parallel operation of two alternators, 15
Explain in brief of the following : 30
(1) Merz-price system of protection
(1) Short-circuit current for symmetrical faults
(iti) Electric welding
How is the rating of a cable determined ? 10
T . - . m - [}
What are the different configurations of BJT ? Explain each with
suitable circuit diagram. 10

Explain electrie installation of machines a0 relevant R rules in

brief. 10



